SHME6FE FRMmIAI 1T A HEET VHETSRERAE
(3 A31A3RA)
FERMX EFH O VEEHES

XA (B : )
IEH HFEE REE =8
1 mXxdHE 5,780,000 5,780,000 0
mRfIE 5,780,000 5,780,000 0
2 FEIXA 138,456 39,297 A 99,159
EEHTF 456 516 60
MA - a—HERR 138,000 38,781 A 99,219
3 EARRUFHR 75,000 194,221 119,221
ERR 75,000 194,221 119,221
4 EAE 307,294 307,294 0
A YN 157,294 157,294 0
KRl REHEA® 150,000 150,000 0
5 e 699,250 699,250 0
fge 699,250 699,250 0
IRA&E 7,000,000 7,020,062 20,062
X
IEH HFEE REHE =8

A FHOKYFHESEE 3,327,600 2,967,007 360,593
Al #higo < V) EE 920,000 857,006 62,994
LKAy FEAEEE 570,000 545,486 24,514
EEAMBEREZE 350,000 311,520 38,480
A2 £ERIESR 350,000 250,328 99,672
IR R 350,000 250,328 99,672
A3 BEEASS 850,000 759,884 90,116
SEEE TN NEE 650,000 605,144 44,856
FBECXIESE 200,000 154,740 45,260
Al EREFE 1,207,600 1,099,789 107,811
SNS® LT ZE-7-P REZHE 250,000 227,700 22,300
g R IR 807,600 795,189 12,411
FEFERIEEE 150,000 76,900 73,100
B #&iL 500,000 500,000 0
Bl #&i& 500,000 500,000 0
B - 20 500,000 500,000 0
C HBIEERAEXE 150,000 145,920 4,080
Cl HBhEERCEEE 150,000 145,920 4,080
BHIRAT SR BB 2 150,000 145,920 4,080
D E¥BRE EHREEEE 3,022,400 2,569,165 453,235
D1 #REM 70,000 70,000 0
Z B 5N 70,000 70,000 0
D2 #¥& 20,000 16,743 3,257
FENRBR AL 20,000 16,743 3,257
D3 && 1,427,400 1,373,607 53,793
Ex-BE 1,427,400 1,373,607 53,793
D4 $RIEE 150,000 115,000 35,000
HAL 150,000 115,000 35,000
D5 k& 20,000 0 20,000
ERME 9,500 0 9,500
L@k 10,500 0 10,500




D6 FRE 750,000 582,066 167,934
HEmE 160,000 96,095 63,905

HERE - X7+ <V RXFv—UHK 220,000 217,174 2,826

Y SE= 60,000 48,845 11,155

BigE 10,000 0 10,000

HEKE - B 100,000 87,592 12,408

TEKE - KER 40,000 40,140 A 140

JEKE 60,000 60,000 0

e} 100,000 32,220 67,780

D7 &8 260,000 196,128 63,872
FEHK 100,000 37,510 62,490

BEERS - BEBFEN 100,000 104,438 A 4,438

fREREL 60,000 54,180 5,820

D8 AKX RV EER 170,000 167,640 2,360
e 170,000 167,640 2,360

D9 fEmiBAE 100,000 32,981 67,019
=N 100,000 32,981 67,019

D10 88E - MBI RURE 50,000 15,000 35,000
=tk 50,000 15,000 35,000

D11 RAER& 5,000 0 5,000
NRE - BPHEEEN 5,000 0 5,000

XHAE 7,000,000 6,182,092 817,908

WAEET 7,020,062

X HEE 6,182,092

=H 837,970




